homework week01: classic model
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—. FIHRR (IE#BIETS True, $51%1ET False)
(_ ) WRY =B, + BX +u, MHE[u|X] =0, MANAE E[X?u] =0.
() WRY =B, + BX +u, MHE[Xu] =0, ANFH E[X>u] = 0.
(_ ) Ry =X'B+u, i HE[u|X] =0, I2aNAHwHLFX.
(_ ) Ry =X'B +u, 1MHE[Xu] =0, IANEEuX]=0.
(_ ) Py =X'B+u, MHE[u|X] =0, LLEE[u?|X] =02 NEEH, LN
HuM L TX.

i & W o

—. MERARR

LayE I PR RLE:

u\&X:)) = 0(1 + a2X2%X2qu£‘rigl§&o

i
[y
ﬂ
N

7/

w
>EH



=\ HEH
1R EXAY #Z e n4aE (BUEAN 0/ , 1 BB &= AR MU0 /Y
6B MR 0 -

Table 1: Bx & #E £ 4

X=0 X=1
Y=0 0.1 0.2
Y=1 04 0.3

GEX = OLALRX = 1R T, A BEHELY | X], E[Y21X], BLRvar[Y | X].
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125 RE LT PN e/ 3fe [m] YA AR A -
y= leil + é(#eq: modell)
y = X,B; + X, B, + é(#eq: model?2)
fBE RE AIRS 73 5l 7 b3k P AR (] U1 541 5 228
HAHT: @) RF = R, I TEIEMR. b) A0 TRS = RZ, FHH @@
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245 BN RY,, LA AMERASEX, M.
A RS EEME 7YX — o R (IR(3)) -

Y; = By + B1X1; + 1i;(#eq: mod1)
BE—2oth A [F] 2N IR (R R A7, AR 8 5 R AR B X AT G0 B [l

(W=(4)) -

il; = Po + BoXo; + &;(#eq: aux1)

S bFEIR, B [F% EEMAE T W oo EAAAR (LK (5)
Y; = Bo + BiXy; + BaXoi + é;(#eq: full)

M By = PR AL? AU !



